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Only MA fit
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fit type best M }™it for Q2 | best M j™or cos#

with 1-o contour | with 1-o contour

shape 1.4740.13-0.14 1.414+0.21-0.23
shape w/o coherent region 1.04+0.04-0.04 1.06+0.04-0.04
POT normalized 1.14+0.14-0.14 1.1140.17-0.18
1.1540.13-0.13 | 1.1240.17-0.17

shape w/o coherent region
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L2(Q2) for absolute normalization|
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Two track fitter
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fit type

best M1%it for Q°

with 1-o contour

best .'U'_l‘ror cosf

with l-o contour

shape w/o coherent region

POT normalized

POT w/o coherent region

0.78+0.05-0.05
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Shape fit with
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production have
to global minimum
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